Pozdravljeni,
najprej vam posredujem rešitve včerajšnjih nalog. Prosim, da jih skrbno pregledate in popravite morebitne napake.
Book p. 7/4a
1) am   2) isn't    3) are   4) climbing   5) leaving   6) putting
Book p. 7/5
2) The men aren't repairing the door. They're painting a sign.
3) Smart Alec isn't phoning the police. He's climbing a tree. (PAZI: phoning, -e odpade ob dodajanju –ing)
4) The bird isn't sitting in the tree. It's flying out of the window.
5) They aren't waiting for the lift. They're walking upstairs.
6) They aren't shaking hands. They're looking at the sign on the door. (PAZI: shaking, -e odpade ob dodajanju –ing)
Book p. 7/6
1) don't like  2) runs    3) cycles   4) is arriving   5) learns  6) is learning  7) gets   8) are sitting   9) is ringing   10) rings   11) doesn't ring

RAZMISLI: poglej zadnje 3 primere 6. naloge (9, 10, 11) in razmisli oz. utemelji rabo časa present cont./simple za posamezni primer.

REŠI: workbook p.3 (DZ str. 3)/ 5., 6. naloga
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